ol

2SN SYLCH

SIFRE J1E0 g4 22 #20] &M StAI2IE I ELIC
20195t 78 S4!, Jl=sAdl R0l 26101 Oteiet 20| etistel] SR2EHNAE A
SYAAEH(IIE) S &HS EHOITIAIN OIXMLNIX LS00 =AID| HIBFLICH

1. 824 14 2= 4,500 2LICH. MEENSE sAHE S4H XfH2 \:=11F 1
2, 14 SN 3,300 ULICH SASHSXRES 27 (&M S4ESE K
o Xa=2us ZHE)
2. 20188tH = 5B RH J|=Adl= 2130,0003 2/ LICtH (&[22 HLE)
3. 24 & JI=SAHl 304 0l4F DIEAl =401 SEHEIN, JISMUM El4 & £ JUSLICH

]
=

72 E = 9 AZHY NS0IM Bl 1
7€ SAHI(ZH1,E) 246,960
20194 78 22(38t) ~ 2019E 7E192(2)
78 Jl=AtHl 108,040 DILtAl 2 Al01S
Al 356,000

78 & SAYA (A4) (A) | 1A BIKE) | Be(ase=c) | SO UETAEISHS 78 mAZol(E=C-D)
14l N#3(D)
78 714l 4,500 319,500 | 2041%3,627=72,540 046,960

(HD> YR HA Lo
Gg(fﬁﬁ?;%)l#— 14 EHJ} = A SHHUHE 1AXEZ2| 68 A2 68 YEE W | 62 YUY XM 41D

= (A?T (B) (A*B=C) (D) (C-D=E) (F) (G)(E-F) e

1941%3,627=
754 4,500 | 337,500 B 268,590 268,590 0

)| ool SEO MU0l AUALE ASHWZ AFHO o =0 U2 ENME JIE HAUZE =8
5050565-51-039032 E£E&1D Hx=Z XE =ol A2 BHELICEH

«(OHERHEH) JHOIH o2t ALEh: DIE 30l A2 JMEM=E =58 SRE SECELIC. 0iY=0l &
dotg 212 Xelol oS0l E&EU

20194 63 26¥

4H
il
0B
|
oI
o
S|
01
0
E



